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1. The Venn diagram, where p and g are probabilities, shows the three events 4, B and C
and their associated probabilities.

A

(a) Find P(4)

ey
The events B and C are independent. V [G) X P (C) - F( B O ¢ >

(b) Find the value of p and the value of ¢

3)
(c) Find P(4|B’) o
of 01> *0-25 = 0.58
o/ 0.6 x f(L) = 0.3
PLO) = 05
lP - 0.5 - 0.3
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Question 1 continued
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(Total for Question 1 is 6 marks)
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. . 1 . .
. A machine fills packets with sweets and 5 of the packets also contain a prize.

The packets of sweets are placed in boxes before being delivered to shops.
There are 40 packets of sweets in each box.

The random variable 7 represents the number of packets of sweets that contain a prize
in each box.

(a) State a condition needed for T to be modelled by B(40, %)

1)
A box is selected at random.
1
(b) Using T~ B(40, -) find
(1) the probability that the box has exactly 6 packets containing a prize,
(i1) the probability that the box has fewer than 3 packets containing a prize.
Kamil’s sweet shop buys 5 boxes of these sweets.
(c) Find the probability that exactly 2 of these 5 boxes have fewer than 3 packets
containing a prize.
Kamil claims that the proportion of packets containing a prize is less than %
A random sample of 110 packets is taken and 9 packets contain a prize.
(d) Use a suitable test to assess Kamil’s claim.
You should
» state your hypotheses clearly
* use a 5% level of significance
“4)

a/ Eaclh euent Mwnyk be }yxde(u\o‘a(f‘ (Md
473 r,o\aau\uvJ tnd  alwags  Le />

bsf 0173
i/ p(T &) = 00614

o) X~B(5, 0.06/4)

MR T O =
P 7 2 81 9 A 0 4 2 0

YIHV SIHLNIZLIHM LON Od V3HY SIHL NI 3LIHM 1ON Od

V34V SIHLNI 3LIYM LON Od



S )

Question 2 continued
df to: | = 7
Hyw p<
X ~8(110 <)

?(\Ké"l) O 0383
0. 0385 < 0.0S

()

There ) ewidtace o Support  Iami S ol

o o
L&
KT
!Eéi
=
g

VAL OO O A S
(] (W | Turn over »
P 7 2 81 9 A0 5 2 0




s

Question 2 continued

p 7 2 81 9 A 0 6 2 0

OmC .

0900000 09,0999,
1000000 0a0 00 00 00000
RSO0
S5
3538

%

355
0200002000009 %0 %%

0902090209009 %% %%
0902090290090 %:%%
KR KKKREKRK KK
IS

KKK
S
%
R
Q’

(XK
99888
KRR
IRKM
2055
2555

283
XX
XXX
XX
55
5K

doaseteteteteteteteotetoteteds

0%

K ERIEKRELIKLELKKL

00X
L0208

b % G %%
g
XX

ReReRaResess
doetetetotetototototetoteteds
OIIRKKILEKKIK
oot atetetetetotetotetotote!

QI
%ﬁ“ﬁ.
DI

XK
otatotyfase
=)
il
X

ety
QSRR

S5
Ly
4
2
X
oot otatetatetetetetotetotetoret

X X RRKKRKKN
RRRKRRIKK,

Sotesotetetoetotetode;

0008000 %000 502560 % %

X X
090%0%0%%0%% %% %

X
QL

G RIRIRK
K5

000
KKK
5555
55
XXX

o
25
255
K
<

Sooasasesetatetetetets 1 A=
%5

%%

6
betetess:

PT05050500%

oot tode!
%wvvv’
B eraratere%
oo tetetete!

3
prosesesess

XX
[9.96%%
82858

s

%

%S
PN
i
¢
-
S
S

[9096%%%
¢0q§0

R

KRR

XRRR
290

%ot
93
258

ool

SRS
R
0208

<
5%
S
X
290

<
O

RAIKK

¢

3%

2%
oatatode!

2R
5
S tootetetotote

¢
QK

0%
X



XXX
RS

&S
SeSotodes
QKKK
QLRI

0o

O
"0
KRIRRRARARARAR RN

%
o%
0% %%
090 %%
RRRRK

8

KX
XS
S

<
%
EA:

o

00

%%
K

5

<
o

000

X
<
%%
5

00
2R
K
4%%

R

o%6%%
o96%%

o96%%

RRRXXS

XX

%
b0¢
KK
RRRL

0

O
o
28

53

<
o

1%6%%
02050

2
XS

3%
o

5
<<
o2

RS

¢
o202
%5

0
XX

0%

%
o%%
K

X X

020

000

X
XX

<

0o

X
X

XX
XX

000

o6

X
3
o058

9%
09993
SRS

K

%5

B

%

%
55

%

X
55
X X
009%
XX

%
X X

020

%%

000

B

dﬁg
o2
<X

o
O

000

o%

K
IR

%

S

XX

5

X
XX
Xs
0o

%%
X

o
0SS

RL

e Sototetetetet
DA
QIRLRLL

XX
55
55

:96%%% %
190%0%0%0%0%0%6% %% 0"

:96%%%
K

XX
XX

0
000
o

o2l

35
bo%s
%

000,

%%
%

X
o

oo

%%

o
%

000

o
O

5

%%
XX

000

ool

o%
S
R

%

X

oo

o

Question 2 continued

(Total for Question 2 is 9 marks)
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3. Ben is studying the Daily Total Rainfall, x mm, in Leeming for 1987

He used all the data from the large data set and summarised the information in the
following table.

X 0 /0.1-05/06-1.0 1.1-1.9|2.04.0|4.1-6.9 7.0-12.0/12.1-20.9 21.0-32.0

Frequency| 55 18 18 21 17 9 9 6 2

(a) Explain how the data will need to be cleaned before Ben can start to calculate
statistics such as the mean and standard deviation. 0

Using all 184 of these values, Ben estimates Zx =390 and sz =4336

(b) Calculate estimates for
(1) the mean Daily Total Rainfall,

(i1) the standard deviation of the Daily Total Rainfall.

(&)
Ben suggests using the statistic calculated in part (b)(i) to estimate the annual mean
Daily Total Rainfall in Leeming for 1987
(c) Using your knowledge of the large data set,
(1) give a reason why these data would not be suitable,
(i1) state, giving a reason, how you would expect the estimate in part (b)(i) to differ
from the actual annual mean Daily Total Rainfall in Leeming for 1987
(2)
0\./ {'/ Sl/\awlol be (/lA&A:){oL (/\Lo 0 - 02-5 (of 0)
7
lal Fuuaj hetweer O and )05
bl mear - Zx
N
< 310 . 2.2

— S
o = | 122 — (22)
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Question 3 continued
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(Total for Question 3 is 7 marks)
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. A study was made of adult men from region 4 of a country.
It was found that their heights were normally distributed with a mean of 175.4cm and
standard deviation 6.8 cm.

(a) Find the proportion of these men that are taller than 180 cm.
(1)

A student claimed that the mean height of adult men from region B of this country was
different from the mean height of adult men from region 4.

A random sample of 52 adult men from region B had a mean height of 177.2cm

The student assumed that the standard deviation of heights of adult men was 6.8 cm both
for region 4 and region B.

(b) Use a suitable test to assess the student’s claim.
You should

state your hypotheses clearly

use a 5% level of significance

C))

(c) Find the p-value for the test in part (b)
(1)

1
6.3 6-¢
s.d = 2 N I’IS.Lf,”')
c2 ( 7t

FLK >/}77-L> < 0.02¢]

ol
b 0.02%1 7 ©0.025

There is not chough evidene b soppoit e
studer’s (lgim

c)] @a*3d8H = 00562
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Question 4 continued

(Total for Question 4 is 6 marks)
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5. Tisam is playing a game.

She uses a ball, a cup and a spinner.

The random variable X represents the number the spinner lands on when it is spun.
The probability distribution of X is given in the following table

X 20 50 80 100
P(X=1x) a b c

d
P(s) £ K kX
where a, b, ¢ and d are probabilities. 20 S0 g0 0©

To play the game

» the spinner is spun to obtain a value of x

» Tisam then stands xcm from the cup and tries to throw the ball into the cup

The event S represents the event that Tisam successfully throws the ball into the cup.

To model this game Tisam assumes that

. P(S‘ {X=x})= % where k is a constant

* P(Sn {X=x}) should be the same whatever value of x is obtained from the spinner
Using Tisam’s model,

8
(a) show that ¢ = gb

(2)
(b) find the probability distribution of X
(5)
Nav tries, a large number of times, to throw the ball into the cup from a distance
of 100 cm.
He successfully gets the ball in the cup 30% of the time. S z 30./6
(c) State, giving a reason, why Tisam’s model of this game is not suitable to describe
Nav playing the game for all values of X
(1)
a cx k= b =
/ w 5o
T
c = b
———
L T
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Question 5 continued
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6. A medical researcher is studying the number of hours, 7, a patient stays in hospital

following a particular operation.

The histogram on the page opposite summarises the results for a random sample
of 90 patients.

(a) Use the histogram to estimate P(10 < 7 < 30)

(2)
For these 90 patients the time spent in hospital following the operation had
* amean of 14.9 hours
+ astandard deviation of 9.3 hours
Tomas suggests that 7 can be modelled by N(14.9, 9.3%)
(b) With reference to the histogram, state, giving a reason, whether or not Tomas’ model
could be suitable.
(1)
Xiang suggests that the frequency polygon based on this histogram could be modelled
by a curve with equation
y=5xef" 0<x<4
where O — ¢o lnowvrs
* x is measured in tens of hours
* k1is a constant
(c) Use algebraic integration to show that
meex dx=1-(m+1)e"
. @)
(d) Show that, for Xiang’s model, k£ = 99 to the nearest integer.
3)
(e) Estimate P(10 < T < 30) using
(i) Tomas’ model of T~ N(14.9, 9.3%)
(1)
(i) Xiang’s curve with equation y = 99xe™ and the answer to part (¢)
(2)
The researcher decides to use Xiang’s curve to model P(a < T < b)
(f) State one limitation of Xiang’s model.
(1)
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Question 6 continued
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Question 6 continued
(Total for Question 6 is 14 marks)
TOTAL FOR STATISTICS IS 50 MARKS
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